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PHILOSOPHY — HONOURS
Paper : DSE-B-1(b)
(The Problems of Philosophy— B. Russell)
Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]
The figures in the margin indicate full marks.
. Mark the correct answers (any ten) : 1x10

(a) What is meant by sense data?
(i) sensation (i) object sense experience
(iii) matter (iv) none of these.

(b) According to Russell, common man’s belief in the existence of matter is
(i) innate or natural (ii) imaginary
(iii) scientific (iv) none of these.

(c) In course of discussing Idealism Russell criticizes the view of
(i) Bishop Berkeley (i) G.E. Moore

(i) Immanuel Kant (iv) Sir Walter Scott.

(d) ‘This table is brown’ is a

(i) knowledge by acquaintance (i) knowledge of truth
(i) definite descriptive knowledge (iv) knowledge by description.
(e¢) ‘The man with the iron mask’— this expression according to Russell, is an example of
(i) proper name (i) indefinite description
(iii) definite description (iv) a historical statement.

(f) The law on which inductive inference does not depend
(1) law of uniformity of nature (i) law of causation
(iii) law of commutation (iv) none of these.

(g) According to Russell, all our knowledge— both knowledge of things and knowledge of truths rests

upon
(i) acquaintance (i) intuition
(iii) use of words (iv) self-realisation.

(h) The law that can not be treated as self-evident law of thought is
(1) law of identity (i) law of uniformity of nature
(iii) law of contradiction (iv) law of excluded middle.
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2.

3.

(1) According to Kant, ‘6+5 = 11> — this mathematical preposition is
(i) analytic a priori (i) analytic a posteriori
(i) synthetic a priori (iv) synthetic a posteriori.
() Russell’s theory of universals is a modified version of which philosophical theory?
(i) nominalistic theory of universal (i) Aristotle’s theory of universal
(ii)) Plato’s theory of universal (iv) none of these.
(k) Entailment theory as a theory of causality goes with the philosophical position of
(i) idealism (i) empiricism
(iii) criticism (iv) rationalism.

() Which theory regarding the nature of truth Russell considers to be satisfactory?

() phenomenalism (i) pragmatism
(iii) coherence theory (iv) correspondence theory.
Answer any five questions : 5%5

(a) How does Russell distinguish between appearance and reality?

(b) What, according to Russell, is the nature of matter?

(c) Write a short note on : Instinctive belief for the existence of external world.
(d) Are proper names descriptive? Answer after Russell in brief.

(e) What is the nature of logical principles?

(f) What is the problem of a priori knowledge? Discuss.

(g) What are the points of difference between Plato’s view and Russell’s view regarding the nature of
universals?

(h) What, according to Russell, are the sources of our knowledge?

Answer any two questions :

(a) What is idealism? How does Russell explain the word ‘idea’? Discuss, after Russell, Berkeley’s
idealism. 3+4+8

(b) Discuss critically the type of realism supported by Russell in his The Problems of Philosophy.
15

(c) Explain the principle of induction. How does Russell show that this principle can neither be proved
nor be disproved by experience? 5+10

(d) State the different self-evident truths in accordance with gradation. What is the importance of degree
of self-evidence in the theory of knowledge? Discuss. 12+3



